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Geral Instructions :

1. All question are compulsory.

2. The question paper consists of 34 guestions divided into four sections A,B,C and D. Section — A
comprises of 10 question of 1 mark each. Section — B comprises of 8 questions of 2 marks each. Section
— C comprises of 10 questions of 3 marks each and Section — D comprises of 6 questions of 4 marks

each.

3. Question numbers 1 to 10 in Section — A are multiple choice questions where you are to select one
correct option out of the given four.

4, There is no overal choice. However, internal choice has been provided in 1 question of two marks, 3

guestions of three marks each and 2 questions of four marks each. Y ou have to attempt only one If the
aternativesin all such questions.

5. Use of calculator is not permitted.
6. An additional 15 minutes time has been alotted to read this question paper only.
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CLASS - X MATHEMATICS
Section A

Q.1 A tree breaks due to storm and broken part bends so that the top of the tree touches the ground making

an angle of 30°with ground. If the distance between the foot of the tree to the point where the top
touches the ground is 8m, then the height of thetreeis

8 3 8
@ ®) o © 5 (d) 8J/3 Ansd

Q.2 Foran A.P.if T, —T,; =45,thend =

@ 9 (b)) -9 (¢ 18 (d 23 Ansa

Q.3 If A and B are two points having coordinates (3, 4) and (5, — 2) respectively and P is a point such that
PA = PB and area of triangle PAB = 10 square unit, then the coordinates of P are

(@ (7,2) or (1,00 (b) (7,2) or (13,4) (C) (2,7) or (4,13) (d) none of these (Ans. a

TMC/D/79/89 1 P.T.O.

Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony
Ph. :2337615; 4010685®, 92022217922630601(0) Mobile : 9425109601;9907757815 (P); 9300618521;9425110860(0); 9993461523;9425772164

PREMIER INSTITUTE for X, XI & X1l .© publication of any part of this paper is strictly prohibited..
Visit usat : http://www. tar getmathematic.com; Email:agyat99@gmail.com.

. . L To remove this message, purchase the
SOLID CONVERTER PDF ) s ns nessa puotse


mailto:Email:agyat99@gmail.com

TARGET MATHEMATICS by:- AGYAT GUPTA Page 2 of 5

Q4 In the given figure, two concentric circles with centre O are of radii 5 cm and 3 cm. From an externa
A

G

point P, tangents PA and PB are drawn to these circles. If AP =12 cm, find BP.
(A) 410 (B) 2J10 (C) +/10 (B) NONE ans: A

Q5 If angle between two radii of acircleis 130°, then the angle between the tangents at the ends of the

radii is

(@ 90° (b) 50° () 70° (d) 40° .Ansb
Q.6 Two unbiased dice are thrown. The probability that the total scoreis>5is
1 7 13 11
a — b — ) — d — .Ansc

()18 (®) 18 © 18 ()18
Q.7 The curved surface area of acylinder is 264 m? and its volume is 924 m?. theratio of its diameter to

itsheight is

@ 37 (b) 773 (c) 6:7 (d)y 7:6 .Ansb

Q.8 If (3,2), (6,3), (X,y) and (6,5) are the vertices of a || gm, then x+y =
@13 (b 14 (¢) 16 (d 15 .Ansd

Q.9 |ForanAP.8, 10,12, ...., 126, the 10" term from the end is
@ 80 (b) 108 (c) 50 (d) 60  .Ansh

Q.10 |InFg., If TPand TQ arethe two tangents to acircle with centre O so that Z/POQ = 110°, then ZPTQ
T

isequalto
(A)60° (B) 70° (C)80° (B) 90° Ansb

Section B
Q.11 | Findthe sum of al three digit numbers which leaves the remainder 2, when divided by 3. Ans: s=
164850
OR
Which term of A.P.5,15,25 ....... Will be 130 more than its 31% term? Ansn = 44

Q.12 | Find the area of the sector of acircle with radius 4 cm and of angle 30° .also find the area of the
corresponding major sector. . Ans46.1 cm
Q.13 | Determinetheratio in which the line 2x+y-4=0 divides the line segment joining A(2,-2) and B(3,7).

.Ans2:9

Q.14 | Aletter of English alphabets is chosen at random. Determine the probability that the latter isa
consonant. . Ans 21/26
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Find the perimeter of quadrant of a circle whose circumferenceis 22 cm. Ans p:% +2r =125

Q.15

Q.16 | Findtherelation between x and y if the points (x,y) , (1,2) and (7,0) are collinear.
Q.17

a’'b?
Q.18 | 1000 tickets of alottery were sold and there are 5 prizes on these tickets. If Saket has purchased one
lottery ticket, What is the probability of winning a prize ? Ans 0.005

Section C
Q.19 | Let ABCbearight trianglein which AB =3CM ; BC=4CM and ~B=90".BD is prependicular

from B on AC . Thecirclethrough B, C, D isdrawn . construct the tangent from A to thiscircle.

Solvefor x: a?b%x? +b%x—a’x-1=0 Ans {_1 1}

Q.20 | Find the probability of getting 53 Sunday and Monday in aleap year. Ans3/7

Q.21 | Anaero planeflying horizontally at a height of 2500 m above the ground is observed at an elevation

of 60°. If after 15 seconds, the angle of elevation is observed to be 30°, find the speed of the aero
planein km per hr. Ans 692.8km/ hr

Q.22 | InFig., XY and X*Y’ are two parallel tangents to a circle with centre O and another tangent AB with
point of contact C intersecting XY at A and XY’ at B. Prove that ZAOB = 90°.

Q.23 |Inan AP, thefirst term is 2 and the sum of the first five terms is one-fourth of the next five terms.
Show that 20th termis-112. Ans: s, = l[t6 4t +ty+t > d=-68&T, =a+19d = -112
4
OR
A spiral is made up of successive semi-circles, with centers alternately at A and B, starting with

centre at A, of radii 0.5cm, 1.0cm, 1.5cm, 2.0 cm,....as shown in
Ij

Figure s .What is thetotal length of such a spiral made up of
thirteen consecutive semi-circles 2 Take , - 2 } Ans:
7

T —
I, = 71, = ’;—;|2 = &0, = 2[”2_];|3 = 1, = 3[%); ......... I1+|2+I3+""+|“ZE(1+2+3+ ..... +13) =143cm

Q.24 | A bucket of height 8 cm and made up of copper sheet isin the form of frustum of aright circular cone
with radii of its lower and upper ends as 3 cm and 9 cm respectively. Calculate:

(a) the height of the cone of which the bucket is a part.

(b) the volume of water which can be filled in the bucket.
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(c) the area of copper sheet required to make the bucket.( Leave the answer in terms of 1) Ans(a) 12
cm (b) 312a7cm®(c)1297cm?

Q.25 | Thereare 1000 sealed envelopesin abox, 10 of them contain a cash price of < 100 each, 100 of them
contain a cash prize of ¥ 50 each and 200 of them contain a cash price of I 10 each and rest do not
contain any cash prize. If they are will shuffled and an envelope is picked up out, what is the
probability that it contain no cash price? Ans0.69

Q.26 | Findthe sum of al two digit numbers greater than 50 which when divided by 7 leaves a remainder of

4. Ans: 53+ 60+ 67 + ----------- + 95 =518 ( number of term =7)
OR
A man repays aloan of Rs. 3250 by paying < 20 in the first month and then increases the payment by
3 15 every month. How long will it take him to clear the loan? Ans: 20 + 35 + 50 + --------- nterm =

3250 then n = 20
Q.27 | Provethat the diagonals of arectangle bisect each other and are equal (Using coordinate geometry ).

Q.28 The vertices of a APQR are P (4, 6), Q (1, 5) and R (7, 2). A lineis drawn to intersect sides PQ and

PR at Sand T respectively, such thatl'zg:';z 2211 . Calculate the area of the APST and compare it with

the area of APQR .Ans:S(13/4, 23/4) T(19/4 ,20/4 )& AAPST) g& A(APOR) = %; Raito =1:16

OR
The vertices of atriangle are (2,3), (1,b) and (c?-3).

(i) Provethat its centroid cannot lie on the y-axis. (3“2 ,a+b—3J& 3+¢” _

=0=>c?#-3
3 3

3+c®> a+b-3
3 ' 3

(i) Find the condition that the centroid may lie on the x-axis. [ j& ""+b‘3:0:> a+b=3

3

Section D
Q.29 | Atwo-digit number is such that product of its digitsis 18. Where 63 is subtracted from the number,
the digits interchange their places. Find the number. Ans 92

Q.30 | How many terms of the A.P._ ¢ _ %,_ 5 are needed to give the sum — 25 ? Explain double

answer. Ans: — 25 = g[Zx(— 6)+ (n—l)ﬂ = n*-25n+100 =0 .. n=5,20 Explaination : - Sum of

first 5 terms of an AP is same the sum of its 20 terms because the sum of last 15 termsis equal to zero
Q.31 | A solidiron pole consists of acylinder of height 110 cm and of base diameter 24 cm. whichis

surmounted by a cone 9 cm. high. Find the mass of the pole, given that 1 cm?® of iron has 8 g mass.
Ans102.24

OR
The diameter of aroller 120 cm long is 84 cm. If it takes 500 complete revolutionsto level a

playground, determine the cost of leveling it at the rate of 30 paise per square metre.Ans 475.2 RS

Q.32 | A boy standing on a horizontal plane finds abird flying at a distance of 100m from him at an angle of
elevation 30°. A girl standing on the roof of 10m high building finds the angle of elevation of the
same hird, at the same time, to be 45°. Both the boy and the girl are on opposite sides of the bird. Find
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the distance of bird from the girl. Ans 40v/2m
OR
The angle of elevation of acloud from a point 60m above the lake is 30° and the angle of depression
of the reflection of the cloud in the lake is 60°. Find the height of the cloud. Ans 120m
Q.33 | A sphere, of diameter 12 cm, is dropped in aright circular cylindrical vessel, partly filled with water.

If the sphere is completely submerged in water, the water level in the cylindrical vessel rises by

32 cm Find the diameter of the cylindrical vessel. Ans 18cm

Q.34 | Fromapoint P, two tangents PA and PB are drawn to acircle with centre O. If OP is equal to the
diameter of the circle, prove that APAB is equilateral.
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